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o Use syntheric division to find the ¢ Juotient and remainder when
f(z) = 8z* + 2z° + 42 — bz — 9 is divided by g(z) =z + 9. / X- <

he quotient is .
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The remainder is

} N
o c=3isazero of P(z) = z* — 142? + 61z — 84. Find all other zeros of P(z). \ ,4.“,\\7

N

T = and x5 = with z; < 3.

o [s (z — 6) a factor of f(z) = —Tz* — 22° + 62% + 3z + 57

Answer yes or no:
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° c = 3 isa zero of P(z) = 2% — 142 + 61z — 84. Find all other zeros of P(z).

Cero / (wor—
= \\ and z, = 7 with ;1915:;1-2 /§ 15

© s (z—6)afactorof f(z) = —Ta* - 2¢° + 62% + 3z + 57
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